

TAX INVOICE

Invoice Number

9746203456

SAP Order

118489543

Sap Order Date

09.01.2025

Invoice Date

13.03.2025

PO Number

MARCH 2025

Delivery Date

13.03.2025

Invoice Address

NU AFRICA DUTY FREE,

N4 GATEWAY INDUSTRIAL PARK, NO 6 BOSBERG, WILLOW PARK MANNER, 0181
 PRETORIA EAST

Delivery Address

N4 GATEWAY INDUSTRIAL PARK
 0181, PRETORIA EAST

Product Description

QTY

UOM

679415

J+B Rare

75cl

12X01

280

CAS

683749

J+B Rare

1L

12X01

88

CAS

694741

Bells Extra Spl

1L

12X01

132

CAS

TAX INVOICE

Copy Tax Invoice

DIAGEO

Building 3, Maxwell Park, Magwa Crescent, Water City, Midrand, 2090
 Vat Reg: 4750101802 NLA: RG0000525
 Customer Service Telephone: 0800 600 230

Invoice Number 9746703456	SAP Order 118489543	Sap Order Date 09.01.2025	Account Number 211590	GRV Required
Invoice Date 09.01.2025	PO Number 2025	Delivery Date 09.01.2025	Plant / Bay	Order type why suspended
Invoice Address N4 GATEWAY INDUSTRIAL PARK, NO 6 BOSBERG, WILLOW PARK MANOR, 0181, PRETORIA EAST		Delivery Address N4 GATEWAY INDUSTRIAL PARK 0181, PRETORIA EAST		Payment Terms 30 days from statement
				Bank : CITIBANK N A SOUTH AFRICA SANDTON 0200079094 / 350005 1055552880 974203456 Customer VAT Number: 4490267574

Product	Description	QTY	UOM	List Price	Customer Discount	Promotional Discount	Amount excl Vat	Vat	Amount in
679415	J+B Rare 75cl 12X01	200	CAS	1,246.36			348,980.80		348,980.80
683744	J+B Rare 1L 12X01	88	CAS	1,374.78			120,980.64		120,980.64
684741	Bells Extra Spl 1L 12X01	132	CAS	1,770.19			233,665.08		233,665.08
752451	JW Red 1L 12X01	132	CAS	2,038.17			259,038.44		259,038.44
752486	JW Red 75cl 12X01	256	CAS	1,801.77			461,253.12		461,253.12
777893	JW Black 75cl 12Y 12X01	65	CAS	3,427.33			222,776.45		222,776.45
684742	Bells Extra Spl 75cl 12X01	420	CAS	1,435.71			602,998.20		602,998.20
765053	White Horse Fo 75cl 12X01	280.000	CAS	OUT OF STOCK					
771708	Tang Lndn 6fn 75cl 12X01	80.000	CAS	OUT OF STOCK					

Nu Africa Duty Free Shops (Pty) Ltd
 Reg.: 2012/226190/07
 VAT Number: 449 026 7574
 6 Bosberg Close
 N4 Gateway Industrial Park
 Willow Park Manor X65
 Pretoria East, 0184
 012 349 1083/89 | 012 054 5245
 Date: 07/01/25 Sign: [Signature]

ANY RETURNS MUST BE NOTED ON THIS DOCUMENT AND ITS COPY.

SEAL: 0089321 - 0089 3301

Sales Order Notes	Receipt From Diageo	Name Sanael	Signature [Signature]	Date 06/03/2025	Taxable Value Rand Vat Rate Tax Amount Rand Total Due ESD Currency
	Receipt From Customer	Name Sney	Signature [Signature]	Date 07/03/2025	



524 0298635

A Brambles Company

PALLET CONTROL NOTE

CHEP South Africa (Pty) Ltd
2012 No. 1987400110007

Supplier's Name	LR CLAIMSON	Supplier's CHEP Acc. No.	2700048255
Receiver's Name	MU -AFRICA PAF-TOLK	Record CHEP Pallets Only	
Receiver's Address	M4 GATEWAY INDUSTRIAL PARK PRETORIA EAST 0181	Quantity Delivered	35
Delivery Note No.	974620-3425/56.	Quantity Exchanged	35
Date	06/03/25.	Balance Outstanding	0
Haulier's Name	LR.	Receiver's Name	Singh
Vehicle Reg. No.	HXM 065 FS	Nu Africa Duty Free Supplies (Pty) Ltd Reg. 2012/226190/07 VAT No. 4230291809/924	

Receiver is to fill in shaded areas at all times

INSTRUCTION TO HAULIER

Signature: _____
 Willow Park Manor 265
 Pretoria East, 0154
 012 345 1087/33 | 012 354 5245
 Date: 07/03/25 Sign: _____

Transactions between CHEP Clients are subject to and upon the current terms of hire of CHEP SA (Pty) Ltd
 SEE REVERSE FOR INSTRUCTIONS TO COMPLETE FORM

Celeste Wiggins

From: Dewald Van Zyl
Sent: Monday, 10 March 2025 10:42
To: Celeste Wiggins
Subject: 35 PALLETS RETURNED - NU AFRICA PTA

Hi Celeste

HXM065FS has the 35 x Pallets from Nu Africa PTA on his truck and the next available load down to Durban he will debrief them.

Kind Regards

Dewald Van Zyl

Mobile 081 691 7416
Email dewald.vanzyl@lrsa.co.za

15 Garfield Rd, Newmarket AH, Alberton, 1449



From: Celeste Wiggins <celeste@lrsa.co.za>
Sent: Monday, 10 March 2025 08:47
To: Dewald Van Zyl <dewald.vanzyl@lrsa.co.za>
Subject: RE: 35 PALLETS RETURNED - NU AFRICA PTA

Feedback please?

I need to communicate with Diageo.

Kind Regards

Celeste Wiggins
Transport Co-Ordinator

email celeste@lrsa.co.za

15 Garfield Road, Newmarket, Alrode, Alberton





Mandatory safety shoes/Reflector vest required on all LR operation

From: Celeste Wiggins

Sent: Monday, 10 March 2025 07:27

To: Dewald Van Zyl <dewald.vanzyl@lrsa.co.za>

Subject: 35 PALLETS RETURNED - NU AFRICA PTA

Morning Dewald,

The below Customer returned 35 Pallets – Please advise where and if it has been offloaded at a Depot?

Nu Africa PTA – HXM065FS

07.03.2025

TIA

Kind Regards

Celeste Wiggins

Transport Co-Ordinator

email celeste@lrsa.co.za

15 Garfield Road, Newmarket, Alrode, Alberton



Mandatory safety shoes/Reflector vest required on all LR operation